PC—Trig

1. y=2cosf

Riding the BIG wave...with trigonometry

Name

2.y =2sinf

Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




3. y =cos(0 + Z?n)

4. y=sin(9—117n)

Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




6
5. y= cos

6. y = sin46

Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




7. y=1+cos@

8. y=2+sinf

Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




9. y=—-2+4cosf

Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




11. y = cos(26 — 5?”)

12. y = sin(36 + 2?”)

Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




14. y = sin(260 + g)

Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




15. y = 2+ 3 cos(260 +2?n)

16. y =2 cos(g — %n)

Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




Period =

Amplitude =

Phase Shift =

Vertical Shift =

Period =

Amplitude =

Phase Shift =

Vertical Shift =




